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CHAPTER 2      NAME_____________________________ 
 
TEST FORM A     CLASS_____SCORE_____GRADE_____ 
______________________________________________________________________________ 
 
Solve.  Find exact solutions. 
   

 1. 1523 =+− x  2. ( ) 14829 +=− yy  
 

 3. ( )( ) 0852 =+− xx  4. 0644 2 =−x  
 

 5. 0252 =+y  6. 02452 =−+ xx  
 

 7. 0623 2 =−− xx  8. 0225 2 =++ mm  
 

 9. 0245 =−− xx  10. 1
13

11

5

3 −=
−

−
+ xx

 

 

11. 2226 =−+ n  12. 562114 −=+− xx  
 
13. 1345 =+x  

 
Solve and write interval notation for the solution set. 
 

14. 8531 ≤−<− x  15. 323 −≤−x  or 214 ≥+x  
 
16. 85 <+x  17. 106 ≥+x  

 
18. Solve lwP 22 +=  for w. 
 

19. Solve 8
11 =+
ba

 for b. 

 

20. Solve 1232 =− xx  by completing the square.  Find exact 
solutions.  Show your work. 

 
21. A boat travels 10 mi upstream and 10 mi downstream.  The total 

time for both parts of the trip is 
3

1
5  hr.  The speed of the stream 

is 1 mph.  What is the speed of the boat in still water? 
 

 
ANSWERS 

 

 1.                              
 
 2.                              
 
 3.                              
 
 4.                              
 
 5.                              
 
 6.                              
 
 7.                              
 
 8.                              
 
 9.                              
 
10.                              
 
11.                              
 
12.                              
 
13.                              
 
14.                              
 
15.                              
 
16.                              
 
17.                              
 
18.                              
 
19.                              
 
20.                              
 
21.                              
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CHAPTER 2      NAME_____________________________ 
 
TEST FORM A 
______________________________________________________________________________ 
 

ANSWERS 
 
22.                              
 
23.                              
 
24.                              
 
25.                              
 
26.                              
 
27.                              
 
28.                              
 
29.                              
 
30.                              
 
31.                              
 
32. a)                          
 b)                          
 c)                          
 d)                          
 e)   See graph.       
 
33.                              
 
34.                              
 
 
 
 
 
 
 
 
 

 
22. A parking lot has a perimeter of 500 ft.  The width is 20 ft less 

than the length.  Find the dimensions. 
 
Express in terms of i. 
   

23. 13−  24. 121−−  
 
Simplify. 
   

25. ( ) ( )ii 2635 +−−  26. ( )( )ii 3467 −+  
 

27. 
i

i

+
−

7

23
 28. 18i  

 
Find the zero(s) of each function. 
   

29. ( ) 13 += xxf  30. ( ) 18253 2 −+= xxxf  
 

31. ( ) 1562 −+= xxxf  
 

32. For the graph of the function ( ) 462 +−= xxxf , 
 a) find the vertex; 
 b) find the line of symmetry; 
 c) state whether there is a  
  maximum or minimum value  
  and find that value; 
 d) find the range; 
 e) graph the function.   
 
 
 
 
33. A homeowner wants to fence a rectangular garden using 60 ft of 

fencing.  An existing stone wall will be used as one side of the 
rectangle.  Find the dimensions for which the area is a maximum. 

_________________________________________________________ 
 

34. Find a such that ( ) 652 ++= xaxxf  has a minimum value of 

24

1
7 . 
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CHAPTER 2      NAME_____________________________ 
 
TEST FORM B     CLASS_____SCORE_____GRADE_____ 
______________________________________________________________________________ 
 
Solve.  Find exact solutions. 
   

 1. 2438 −=+− x  2. ( ) 13843 −=+ yy  
 

 3. ( )( ) 0954 =−+ xx  4. 0248 2 =−x  
 

 5. 0492 =+y  6. 01282 =+− xx  
 

 7. 0294 2 =+− xx  8. 052 =+− xx  
 

 9. 0245 =−+ xx  10. 13
12

42

6

70 −=
+

+
− xx

 

 

11. 46288 −=−+x  12. 31073 =−−+ xx  
 
13. 1123 =+x  

 
Solve and write interval notation for the solution set. 
 

14. 7134 <+≤− x  15. 653or435 ≥+−<+ xx  
 
16. 103 <−x  17. 24 ≥−x  

 
18. Solve trtPPA for+= . 
 

19. Solve mn
m

for62
3 =− . 

 

20. Solve 242 =− xx  by completing the square.  Find exact 
 solutions.  Show your work. 
 
21. The speed of the current in a river is 2 mph.  Jay travels 20 mi 

upstream and then 20 mi downstream in a total time of 
3

1
5  hr.  

Find the speed of his boat. 
 
 

 
ANSWERS 

 

 1.                              
 
 2.                              
 
 3.                              
 
 4.                              
 
 5.                              
 
 6.                              
 
 7.                              
 
 8.                              
 
 9.                              
 
10.                              
 
11.                              
 
12.                              
 
13.                              
 
14.                              
 
15.                              
 
16.                              
 
17.                              
 
18.                              
 
19.                              
 
20.                              
 
21.                              
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CHAPTER 2      NAME_____________________________ 
 
TEST FORM B 
______________________________________________________________________________ 
 

ANSWERS 
 
22.                              
 
23.                              
 
24.                              
 
25.                              
 
26.                              
 
27.                              
 
28.                              
 
29.                              
 
30.                              
 
31.                              
 
32. a)                          
 b)                          
 c)                          
 d)                          
 e)   See graph.       
 
33.                              
 
34.                              
 
 
 
 
 
 
 

 
22. The hypotenuse of a right triangle is 65 ft.  One leg is 35 ft longer 

than the other.  What are the lengths of the legs? 
 
Express in terms of i. 
   

23. 6−  24. 100−−  
 
Simplify. 
   

25. ( ) ( )ii 3824 +−−  26. ( )( )ii +− 64  
 

27. 
i

i

+
+

5

63
 28. 34i  

 
Find the zero(s) of each function. 
   

29. ( ) 36 += xxf  30. ( ) 15136 2 −+= xxxf  
 
31. ( ) 335 2 −−= xxxf  
 
32. For the graph of the function ( ) 20122 2 +−= xxxf , 
 a) find the vertex; 
 b) find the line of symmetry; 
 c) state whether there is a  
  maximum or minimum value  
  and find that value; 
 d) find the range; 
 e) graph the function.   
 
 
 
 
33. Doreen’s Catering charges $150 for set up plus $12 per person for 

parties under 100 people.  Jackson’s Catering charges $18 per 
person for parties under 100 people.  For what size party is 
Jackson’s a better deal?  Assume that the party will be under 100 
people. 

_________________________________________________________ 
 

34. Solve ( ) 322 4
5

=−x . 
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CHAPTER 2      NAME_____________________________ 
 
TEST FORM C     CLASS_____SCORE_____GRADE_____ 
______________________________________________________________________________ 
 
Solve.  Find exact solutions. 
   

 1. 864 =−x  2. ( )12283 −=+ yy  
 

 3. ( )( ) 01234 =+− xx  4. 0246 2 =−x  
 

 5. 0162 =+x  6. 0822 =−− xx  
 

 7. 06175 2 =++ xx  8. 0642 =+− xx  
 

 9. 02410 =+− xx  10. 5
12

26

2

12 =
+

+
− xx

 

 

11. 9543 =++x  12. 11216 −=++ xx  
 
13. 738 =−m  

 
Solve and write interval notation for the solution set. 
 

14. 5326 <−≤− x  15. 253or92 −≤−≥ xx  
 
16. 36 <−x  17. 62 ≥+x  

 

18. Solve hbhA for
2

1= . 19. Solve nnA for5.2= . 

 

20. Solve 862 =− xx  by completing the square.  Find exact 
solutions.  Show your work. 

 
21. It cost $27.95 per day plus $0.15 per mile to rent a car.  How 

many miles was a car driven that was rented for one day and had a 
rental bill of $45.95? 

 
 
 
 
 
 
 

 
ANSWERS 

 

 1.                              
 
 2.                              
 
 3.                              
 
 4.                              
 
 5.                              
 
 6.                              
 
 7.                              
 
 8.                              
 
 9.                              
 
10.                              
 
11.                              
 
12.                              
 
13.                              
 
14.                              
 
15.                              
 
16.                              
 
17.                              
 
18.                              
 
19.                              
 
20.                              
 
21.                              



 58

CHAPTER 2      NAME_____________________________ 
 
TEST FORM C 
______________________________________________________________________________ 
 

ANSWERS 
 
22.                              
 
23.                              
 
24.                              
 
25.                              
 
26.                              
 
27.                              
 
28.                              
 
29.                              
 
30.                              
 
31.                              
 
32. a)                          
 b)                          
 c)                          
 d)                          
 e)   See graph.       
 
33.                              
 
34.                              
 
 
 
 
 
 
 
 
 

 
22. The edges of a 20 ft by 30 ft garden are to be torn up to install a 

walking path of uniform width around its perimeter.  The area of 
the new garden is three fourths of the old area.  How wide is the 
walking path? 

 
Express in terms of i. 
   

23. 11−  24. 12−  
 
Simplify. 
   

25. ( ) ( )ii 5623 +−−  26. ( )( )ii −+ 423  
 

27. 
i

i

+
−

5

34
 28. 23i  

 
Find the zero(s) of each function. 
   

29. ( ) 42 +−= xxf   30. ( ) 6114 2 ++= xxxf  
 

31. ( ) 52 2 −+= xxxf  
 

32. For the graph of the function ( ) 862 −+−= xxxf , 
 a) find the vertex; 
 b) find the line of symmetry; 
 c) state whether there is a  
  maximum or minimum value  
  and find that value; 
 d) find the range; 
 e) graph the function.   
 
 
 

33. The formula 32
5

9 += CF  can be used to convert Celsius 

temperatures to Fahrenheit temperatures.  For what Celsius 
temperatures is the Fahrenheit temperature below °60  F? 

_________________________________________________________ 
 

34. Solve 3=x . 
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CHAPTER 2      NAME_____________________________ 
 
TEST FORM D     CLASS_____SCORE_____GRADE_____ 
______________________________________________________________________________ 
 
Solve.  Find exact solutions. 
   

 1. 635 =−x  2. ( ) 9643 −=+ yy  
 

 3. ( )( ) 03552 =+− xx  4. 0364 2 =+− x  
 

 5. 0362 =+x  6. 035122 =+− xx  
 

 7. 0362 =+− xx  8. 0732 =+− xx  
 

 9. 0187 =−+ xx  10. 3
6

10

3

14 =
+

+
− xx

 

 

11. 1186 =++x  12. 46257 +=++ xx  
 
13. 85 =− x  

 
Solve and write interval notation for the solution set. 
 

14. 10253 <+≤− x  15. 23or864 >≤+ xx  
 
16. 42 ≥+x  17. 145 <−x  

 

18. Solve rnrtPV for= . 19. Solve kkT for5.12= . 
 

20. Solve 942 =+ xx  by completing the square.  Find exact 
solutions.  Show your work. 

 
21. Rosie’s Books prices its books by raising the wholesale price 40% 

and adding 50¢.  What is the wholesale price on a book that sells 
for $39.95?  Round to the nearest cent. 

 
 
 
 
 
 

 
ANSWERS 

 

 1.                              
 
 2.                              
 
 3.                              
 
 4.                              
 
 5.                              
 
 6.                              
 
 7.                              
 
 8.                              
 
 9.                              
 
10.                              
 
11.                              
 
12.                              
 
13.                              
 
14.                              
 
15.                              
 
16.                              
 
17.                              
 
18.                              
 
19.                              
 
20.                              
 
21.                              
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CHAPTER 2      NAME_____________________________ 
 
TEST FORM D 
______________________________________________________________________________ 
 

ANSWERS 
 
22.                              
 
23.                              
 
24.                              
 
25.                              
 
26.                              
 
27.                              
 
28.                              
 
29.                              
 
30.                              
 
31.                              
 
32. a)                          
 b)                          
 c)                          
 d)                          
 e)   See graph.       
 
33.                              
 
34.                              
 
 
 
 
 
 
 
 
 

 
22. Two trains leave the same city at the same time at right angles.  

One train travels at a speed of 75 km/h.  In 2 hr the trains are 
250 km apart.  How fast is the other train traveling? 

 
Express in terms of i. 
   

23. 25−  24. 49−−  
 
 
Simplify. 
   

25. ( ) ( )ii 4568 +−−−  26. ( )( )ii 3434 +−  
 

27. 
i

i

+
−

3

2
 28. 15i  

 
Find the zero(s) of each function. 
   

29. ( ) 54 −= xxf   30. ( ) 6132 2 +−= xxxf  
 
31. ( ) 582 +−= xxxf  
 

32. For the graph of the function ( ) xxxf 42 −−= , 
 a) find the vertex; 
 b) find the line of symmetry; 
 c) state whether there is a  
  maximum or minimum value  
  and find that value; 
 d) find the range; 
 e) graph the function.   
 
 
 
33. The sum of the base and the height of a triangle is 72 in.  Find the 

base for which the area is a maximum. 
_________________________________________________________ 
 

34. Solve ( ) ( )23402 2 −=−− xx . 
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CHAPTER 2      NAME_____________________________ 
 
TEST FORM E     CLASS_____SCORE_____GRADE_____ 
______________________________________________________________________________ 
 

 1. Solve:  ( ) 51024 +=− yy . 

 a) 
13

6−  b) 
6

13−  c) 
6

7−  d) 
2

1
 

 

 2. Solve:  04715 2 =−− xx . 

 a) 
4

5
 ,

3

1−  b) 
3

1
 ,

5

4−  c) 3 ,
4

5 −  d) 
3

1
 ,

5

4 −  

 
 

 3. Solve:   092 2 =+− mm . 

 a) 
4

731±
 b) 

4

351 i±
 c) 

4

711 i±
 d) 

4

711 i±
 

 

 4. Solve:  0183 =−+ xx . 

 a) 3 b) 81 c) 3±  d) 9 
 

 5. Solve:  012 =+y . 
 a) ii,−  b) 1 ,i−  c) i  d) i−  
 

 6. Find one of the solutions of 2
7

46

62

5 =+
+ xx

. 

 a) 
4

1
 b) 

28

69
 c) 4  d) 2  

 

 7. Solve:  53145 =++x .   

 a) 10 b) –2 c) 
25

144
 d) 

5

18
 

 

 8. Solve:  2065 =−m . 

 a) 
5

26
 ,

5

14−  b) 
5

26
 ,

5

26−  c) –70, 130 d) 
5

26
 

 

 9. Solve:  56 ≥+x . 

 a) ( ] [ )∞−∪−∞− ,111,  b) [ ]1,11 −−  

 c) ( ] [ )∞∪∞− ,111,  d) [ ]11,1  
 

10. Solve:  43310 ≤+<− x . 

 a) ⎟
⎠
⎞

⎢⎣
⎡−

3

1
,

3

13
 b) ⎟

⎠
⎞

⎢⎣
⎡−

3

13
,

3

1
 c) ⎥⎦

⎤
⎜
⎝
⎛−

3

1
,

3

13
 d) ⎥⎦

⎤
⎜
⎝
⎛−

3

1
,

3

7
 

 
ANSWERS 

 
 1.                              
 
 
 
 2.                              
 
 
 
 3.                              
 
 
 
 4.                              
 
 
 
 5.                                
 
 
 
 6.                              
 
 
 
 7.                              
 
 
 
 8.                              
 
 
 
 9.                              
 
 
10.                              
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CHAPTER 2      NAME_____________________________ 
 
TEST FORM E 
______________________________________________________________________________ 
 

ANSWERS 
 
11.                              
 
 
12.                              
 
 
13.                              
 
 
14.                              
 
 
15.                              
 
 
16.                              
 
 
17.                              
 
 
18.                              
 
 
19.                              
 
 
20.                              
 
 
21.                              
 
 

 

 

11. Solve IrtP =  for t. 

 a) IrPt −=  b) PIrt =  c) 
P

Ir
t =  d) 

Ir

P
t =  

 

 

12. Find the zero of ( ) 43 −= xxf . 

 a) 
3

4−  b) 
3

4
 c) 

4

3−  d) 
4

3
 

 

13. Find the zeros of ( ) 15174 2 −−= xxxf . 

 a) 5,
3

4−  b) 
4

3
 ,5−  c) 

3

4
 ,5−  d) 5 ,

4

3−  
 

14. Solve 642 =− xx  by completing the square. 

 a) 102 ±  b) i222 ±  c) 
2

224 ±
 d) 1022 ±  

 

15. Express 6−  in terms of i. 

 a) i6  b) i6  c) i6−  d) 6−  
 

16. Simplify:  ( )( )ii +− 825 . 
 a) i1138 −  b) i1142 −  c) i240 +  d) 42 
 

17. Simplify:  12i . 
 a) i  b) 1−  c) i−  d) 1 
  

18. For the graph of the function ( ) 14122 2 +−= xxxf  find the 
vertex. 

 a) (3, 4) b) (6, 14) c) (–4, 3) d) (3, –4)  
 

19. For the graph of the function ( ) 184 2 −−= xxxf  find the line of 
symmetry. 

 a) 1=x  b) 2=x  c) 5−=x  d) 
4

1=x  
 

20. The sum of the base and the height of a triangle is 54 in.  Find the 
base for which the area is a maximum. 

 a) 
2

27=b  in. b) 18=b  in. c) 27=b  in. d) 36=b  in. 

_________________________________________________________ 
 

21. Find b such that ( ) 302 2 −+−= bxxxf  has a maximum value of 
2 and the vertex is located in the second quadrant. 

 a) –16 b) 4 c) –8 d) –4 
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CHAPTER 2      NAME_____________________________ 
 
TEST FORM F     CLASS_____SCORE_____GRADE_____ 
______________________________________________________________________________ 
 

 1. Solve:  ( ) 8362 +=+ xx . 

 a) –2 b) –20 c) 
5

4−  d) 4 
 

 2. Solve:  0282 2 =−+ xx . 

 a) 
7

2
 ,4−  b) –4, 7 c) 

2

7
,4−  d) 

2

7
,4 −  

 

 3. Solve:   0162 =+− xx . 

 a) 223 ±  b) 1, 5 c) 103 ±  d) 23 ±  
 

 4. Solve:  02073 =−− xx . 

 a) 4  b) 4 ,
3

5−  c) 16 ,
9

25
 d) 16  

 

 5. Solve:  0812 =+x . 
 a) –9, 9 b) ii 9 ,9−  c) –81 d) i81−  
 

 6. Solve:  1
4

5

23

12 =
+

−
− xx

. 

 a) 3,
3

22 −  b) 
3

58
 c) 3,

3

22−  d) 3 ,
22

3−  
 

 7. Solve:  52115 =+−x .   

 a) 4 b) 100 c) 
5

2−  d) 2 
 

 8. Solve:  1743 =−x . 

 a) –39, 63 b) 7 ,
3

13−  c) 
3

13−  d) 7 
 

 9. Solve:  215 >+ x . 

 a) ( ] [ )∞∪−∞− ,1317,  b) (–17, 13) 

 c) ( ) ( )∞∪∞ ,1713,  d) ( ) ( )∞−∪−∞− ,1317,  
 

10. Solve:  6122 ≤+<− x . 

 a) ⎟
⎠
⎞

⎢⎣
⎡−

2

5
,

2

3
 b) ( ]3.4−  c) ⎥⎦

⎤
⎜
⎝
⎛−

2

7
,

2

1
 d) ⎥⎦

⎤
⎜
⎝
⎛−

2

5
,

2

3
 

 

11. Solve mnS 8=  for m. 

 a) 
n

S
m

8

2

=  b) 
2

2

64

S

n
m =  c) 

n

S
m

8
=  d) 

2

8

S

n
m =  

 

 
ANSWERS 

 
 1.                              
 
 
 2.                              
 
 
 3.                              
 
 
 4.                              
 
 
 5.                              
 
 
 6.                              
 
 
 7.                              
 
 
 8.                              
 
 
 9.                              
 
 
10.                              
 
 
11.                              
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CHAPTER 2      NAME_____________________________ 
 
TEST FORM F 
______________________________________________________________________________ 
 

ANSWERS 
 
12.                              
 
 
 
13.                              
 
 
 
14.                              
 
 
 
15.                              
 
 
 
16.                              
 
 
 
17.                              
 
 
 
18.                              
 
 
 
19.                              
 
 
 
20.                              
 
 
 
21.                              
 

 

 
 

12. Find the zero of ( ) xxf 56 −= . 

 a) 
5

6−  b) 
5

6
 c) 

6

5−  d) 
6

5
 

 

13. Find the zeros of ( ) 30194 2 −−= xxxf . 

 a) 
4

5
 ,6−  b) 6 ,

5

4−  c) 6,
4

5−  d) 
5

4
,6−  

 

14. Solve 852 =+ xx  by completing the square. 

 a) 
2

75 i±−
 b) 

2

75 ±−
 c) 

2

225 i±−
 d) 

2

575 ±−
 

 

 

15. Express 8−  in terms of i. 

 a) 22−  b) i22  c) i24  d) i22−  
 

16. Simplify:  ( )( )ii −+ 534 . 
 a) i1123 +  b) i1117 +  c) i1123 −  d) i320 +  
 

17. Simplify:  21i . 
 a) i  b) 1−  c) i−  d) 1 
 

18. For the graph of the function ( ) 31183 2 −+−= xxxf  find the 
vertex. 

 a) ( )4,3  b) ( )14,6  c) ( )3,4−  d) ( )4,3 −  
 

19. For the graph of the function ( ) 322 +−= xxxf  find the line of 
symmetry. 

 a) 1=x  b) 2=x  c) 3=x  d) 
2

1=x  

 

20. The Cotes have 30 feet of picket fence with which to enclose a 
flower garden.  What dimensions should the garden have in order 
to maximize area? 

 a) 15 ft by 15 ft b) 7 ft by 8 ft 
 c) 7.5 ft by 7.5 ft d) 20 ft by 5 ft 
____________________________________________________________________ 
 

21. Find the value of a such that ( ) 38162 ++= xaxxf  has a 
minimum value of 6. 

 a) –2 b) 
19

96
 c) 2 d) 

19

96−  


